

$$a_1 = F_0$$

(۱)

$$a_F = a_1 + (F-1)d \rightarrow F_0 + (F-1)d = 91 \rightarrow (F-1)d = 91 \rightarrow d = 7$$

$$F_0 = a_1 + (n-1)d \rightarrow F_0 - F_0 = (n-1)7 \rightarrow n-1 = 13 \rightarrow n = 14$$

$$100 < \sqrt{n} + 1 < 999$$

(۲)

$$99 < \sqrt{n}$$

$$13 < \sqrt{n}$$

$$14 < \sqrt{n}$$

$$\sqrt{n} < 999$$

$$n < 998001$$

$$n < 1414$$

$$n < 1414$$

$$1414 - 14 + 1 = 1401$$

$$a_{n+1} + a_{n+2} + a_{n+3} = -4n + 17$$

(۳)

$$\rightarrow a_{n+1} + a_{n+1} + d + a_{n+1} + 2d = -4n + 17$$

$$3a_{n+1} + 3d = -4n + 17 \rightarrow a_{n+1} + d = -\frac{4}{3}n + \frac{17}{3}$$

$$\rightarrow \frac{a_{n+1} + d}{a_{n+1}} = -\frac{4}{3}(n+1) + \frac{17}{3} \rightarrow a_{n+1} = -\frac{4}{3}(n+1) + \frac{17}{3}$$

$$\frac{a_{n+1}}{a_{n+1}} = -\frac{4}{3}(n+1) + \frac{17}{3} \rightarrow \frac{a_{n+1}}{a_{n+1}} = -\frac{4}{3}(n+1) + \frac{17}{3}$$

$$n \in \mathbb{N} \rightarrow a_n = -\frac{4}{3}n + \frac{17}{3}$$

$$a_{14} + a_n = -\frac{4}{3}(14) + \frac{17}{3} + -\frac{4}{3}(n) + \frac{17}{3} = \frac{17}{3}$$

(۴)

$$\frac{x}{x-1}, \frac{x+1}{x}, \frac{x^2}{x^2-1}$$

(۱)

(۲)

(۳)

$$a_n = a_{n-1} + \omega d \rightarrow \frac{x+1}{x} = \frac{x}{x-1} + \omega d \rightarrow \frac{x+1}{x} - \frac{x}{x-1} = \omega d$$

$$\frac{x^2(x-1) + 1 - x^2}{x(x-1)} = \omega d$$

$$\frac{x^3 - x^2 + 1 - x^2}{x(x-1)} = \omega d$$

$$\frac{x^3 - 2x^2 + 1}{x(x-1)} = \omega d$$

$$\frac{x^3 - 2x^2 + 1}{x(x-1)} = \omega d$$

$$\frac{x^3 - 2x^2 + 1}{x(x-1)} = \omega d$$

$$\Rightarrow \frac{x}{x+1} = \frac{x^2}{x^2-1} - \frac{x}{x-1}$$

$$x^2 = 1 \rightarrow x = 1$$

$$\frac{x^3 - 2x^2 + 1}{x(x-1)} = \omega d \rightarrow \frac{x^3 - 2x^2 + 1}{x(x-1)} = \omega d$$

$$d = r \Rightarrow r - r + r + r - 1 = 1^0 + 1 + r \quad \boxed{Pf}$$

$$\begin{aligned}
 & \left\{ \begin{array}{l} a_{11} + a_{1r} \cdot 10 \\ a_{11} - a_{1s} = 0 \end{array} \right. \Rightarrow \begin{array}{l} r a_{1r} = 1^0 \\ a_{1r} = 10 \rightarrow a_{r1} = a_{1r} \cdot 9d \end{array} \quad \text{①} \nearrow \\
 & a_{11} - a_{1s} = 0 \rightarrow 10 - a_{1s} = 0 \rightarrow a_{1s} = 10 \Rightarrow a_{1s} + 9d \rightarrow \begin{array}{l} a_{1r} = 10 \Rightarrow a_{1s} + 11d \\ r d = 20 \\ d = \frac{20}{r} \end{array}
 \end{aligned}$$

$$a_1 + a_r + a_p + a_t + a_s = \frac{1}{p} (a_r + a_t + a_n + a_q + a_s) \quad \text{②}$$

$$\begin{aligned}
 a_1 + a_1 + d + a_1 + r d + a_1 + r d + a_1 + r d + a_1 + r d &= \frac{1}{p} (a_1 + r d + a_1 + r d + a_1 + r d + a_1 + r d \\
 &+ a_1 + r d) \\
 5a_1 + 4rd &= \frac{1}{p} (5a_1 + 4rd)
 \end{aligned}$$

$$p(a_1 + rd) = 5(a_1 + rd)$$

$$p(a_1 + rd) = a_1 + rd \Rightarrow p a_1 = d \Rightarrow \frac{a_r}{a_1} \cdot \frac{a_1 + d}{a_1} = \frac{p a_1}{a_1} = p \quad \boxed{Pf}$$

$$t_n = t_{n-1} + 10$$

$$\frac{t_9 - t_0}{t_v} = \frac{(t_9 + t_0)(t_9 - t_0)}{t_v} = \frac{(t_v + t_v)(t_9 - t_0)}{t_v} = t_0 \quad \text{③}$$

$$\rightarrow t_f = t_1 + 10 \Rightarrow t_f = t_1 + \frac{10d}{10} \Rightarrow d = 10$$

$$t_9 - t_0 = t_1 + nd - t_1 - fd = fd \rightarrow f \times 10 = 10$$

$$\frac{x_1 \sqrt{p} + 12 \sqrt{p}}{1^0} = d \rightarrow \frac{\sqrt{p} \sqrt{10}}{1^0} = \sqrt{10} \quad \text{④}$$

$$\frac{r_2 - r}{r_{n-2} + 1} = \Rightarrow \frac{r}{r(r_{n-1})} = \frac{1d}{r_{n-1}} = d \quad (9)$$

$$r = a_1 \rightarrow a_{n+1} = r + (n)d = 11 \Rightarrow n \times \frac{1d}{r_{n-1}} = 9 \rightarrow$$

$$\frac{1dn}{r_{n-1}} = 9 \rightarrow 11n - 9 = 1dn$$

$$\frac{r_n = 9}{n = 10}$$

$$a_1 + (n-1)d + a_1 + (n+3)d = a_1 + rd + a_1 + 14d \quad (10)$$

$$r a_1 + d(n-1+n+3) = r a_1 + d(r+14)$$

$$\cancel{r a_1} + d(rn+r) = \cancel{r a_1} + 14d$$

$$d(rn+r) = 14d \rightarrow rn+r = 14 \rightarrow r_n = 14$$

$$n = n$$

$$\Rightarrow a_n = \frac{a_n}{r} \rightarrow a_n = r a_1$$

$$a_1 + rd = r(a_1 + rd)$$

$$a_1 + rd = r a_1 + r^2 d$$

$$r a_1 + rd = 0 \rightarrow \frac{(a_1 + d) \cdot 0}{r} = 0$$

$$0 = a_r = \frac{1}{r} \cdot \frac{1}{r}$$